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Directions (1-5): Study the following information carefully and answer the questions.

AT STt T eq T e shitora 31T T & I &iford|

Eight persons are living in an eight-storey building in which the ground floor is numbered as 1 and the
topmost floor is numbered as 8.

A lives on even numbered floor but above the floor numbered four. Three persons live between A and E.
Only one person lives between E and H. Two persons live between H and B. Three persons live between B
and G. Only one person lives between C and G, who lives below C’s floor. Not more than two persons live
between C and D. F lives above D’s floor.

TS ={<F U 315 WioreT AT ® T2d & e geawr [t @ivrer i @ear 18 ¢ ga@ sut @i 6 g
8 81 A W HEAT ATAT HISTeT U TZAT § AT HISTeT H&AT AL FUT 81 A A< E % 19 o+ =7f~F wgd 81 E 3iiY
H % &= *ael T A1k Ygal gl H i B & == &7 =4{<h T&d gl B 3l G & 1= q19 =4 Wwed gl CHATGF
= et T IR TEAT 2, ST C Y WS 3 A1 TEAT 21 C i D 3 i A7 s st A8 @ 21 F, D A

HToreT % Y TEaT gl

Q1. Four of the five following are alike in a certain way so form a group, which of the following does not
belong to that group?

et o= § ¥ =1% U [ iSa 906 & 719 8 S6U TS T80 a9 8, MaciEd § ¥ ®i9 39 998 T
SEIREEEIEY

(@A

(b) G

(c)B
(dcC
(e)F BILINGUAL

Video Soluti
Q2. D % wraey i R & & #ier a7 e T 7

(a) D lives on an odd numbered floor\D T# T H#&qT AT Hiorer TT BAN K

A
(b) More than two persons live between D and H\D iTHFd=TH P RIME
st TEST PACK
(c) D lives just above E’s floor\D, E #T HfSrel 31 FAT Tgar g

. 1BPS RRB, SBI, IBPS PO | Clerk & Others
(d) D lives on 4th floor\D =TT #foref U2 Tgar g 1200+ TOTAL TESTS
(e) None is true\®Ts T T T5 5
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Q3. Who among the following lives just above H’s floor?

Ferfertad & & & H T 511 & S 39¥ TgaT 872
(@) F

(b) D

(@C

(d)E

(e) None of these\Z7H & &TE A1

Q4. How many persons live between F and H?

F oY H & 7ex forae =af<h wga 82
(a) One\U=®

(b) Two \&r

(c) Three\dfi=

(d) More than three\d & rfer
(e) No one \&TE gl

Q5. The number of persons live between A and B is same as the number of persons live between ______
and ____ ?

A T B # &= Y@ ATl SATThAT il H&A] e & AT Tl ATl SATRAT %l FEAT o THIT 872
(@Q)E,H

(b)D,F

(c)B,C

(dH,D

(e)G E

Directions (6-10): Study the information and answer the following questions:

fFrerferfea ST &7 sremaa Fifory siie Ao won & S9< Sy

In a certain code language

‘impact show economy down’ is written as ‘la bcta zo’,

‘fiscal policy impact change’ is written as ‘ cv vx lamo’,

‘change economy return challenge’ is written as ‘ zo dv ea vx/,
‘challenge growth show country’ is written as ‘fx ta kz dv’,

ue AT e ¥,

‘impact show economy down’ #T ‘la bc ta zo’, % &9 § fer@T SaT g

‘fiscal policy impact change’ FT ‘ cv vx lamo’, % &9 | for@T JTaT 8
‘change economy return challenge’ #T ‘zo dv ea vx’, & &7 H fer@1 JTar g
‘challenge growth show country’ #T ‘fx ta kz dv’, % &7 & fer@r Jrar g
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Q6. What is the code for ‘down’ in the given code language?
2T T Fe ATITH 'down' & T FAT Fe 52

(a) la

(b) bc

(c) ta

(d) zo

(e) None of these

TAH | HE TE

Q7. What is the code for ‘policy’ in the given code language?
2T T e ATITH ‘policy’ F T 71 Fe 872

(a) cv

(b) vx

(o) la

(d) mo

(e) Cannot be determined

et 7gi T ST asRar g

Q8. What is the code for ‘return’ in the given code language?
&1 TS FE ATIT H 'return’ & 1T 797 F2 22

(a) zo

(b) dv

(c) ea

(d) vx

(e) None of these

BLGEIERE]

Q9. What is the code for ‘Challenge’ in the given code language?
2T TS e AT H ‘Challenge’ 10 T Fie 57

(a) zo

(b) dv

(c) ea

(d) vx

(e) None of these

BLGEIERE]

Q10. What would be the possible code for ‘fiscal country taste’ in the given code language?
2T TS Fe 99T H 'fiscal country taste' # folT HHTAd He FAT FNIT?

(a) cvmo yu

(b) fxkz ua

(c)uacvzo

(d) sn cv fx

(e) kz fx mo
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Directions (11-14): Study the information carefully and answer the questions given below.

ST T eATAIE S STETT hiTord 3T F1= (& T =T o 3L A Tord|

A certain number of persons sit in a row. All of them are facing north. P sits third to the right of Q. Four
persons sit between R and P. S sits second to the left of R. Four persons sit between R and E. E sits third
from one of the extreme ends. B sits sixth to the right of D who is an immediate neighbor of R. As many
persons sit between E and D as many between Q and L. L does not sit left of Q. K is fifth from one of the
extreme ends and one person sits between L and K. Q does not sit left of D who sits right of R. K is not an
immediate neighbour of P.

U T2 ST § Fw SATh U Uich § 954 g1 39 a9l %7 & 3L 1 A< gl P, Q F T & T TTH I 37 8l
R 3T P & 1= A ATH 95 81 S, R a4 & T T 9L 927 21 R 3T E & &= 91 =f<h 95 5| E et e sifaw
I H 9L I 92 937 81 B, D & a18 | & TITH U 937 ¢, ST R &7 Fsheaw a2l 81 E 3f¥ D & = 9% =7i<pai
FT HEAT Q ST L 3 1= oS ARRIT ol HEAT & G941 gl L, Q o 914 gl a2ar gl K et ua sifaw g & a=d
TATH 9¥ g A L 3T K 1= § UF AT 937 g1 Q, D a13 75! 927 &, ST R & a4 927 1 K, P &7 Mehean q==l

Tl 2

Q11. How many persons sit in row?
iR & e e 45 32

(a) 18

(b) 19

(c) 20

(d) 21

(e) None of these

BLGEIERE]

Q12. How many persons sit between B and S?

B 3% S & 7ed fhad A as g2
(@7

(b) 9

(c) 10

(d)8

(e) None of these

TH ¥ ATE TR

Q13. Who among the following person sits third to the left of L?
frforfea & & 19 L o 13 | 19 211 92 93T 82

(@Q

(b) P

(c)B

(d)D

(e) No one

EIERE
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Q14. How many persons sit left of D?
D % 913 fohae =af<h 95 872

(a) Nine\#t
(b) Four\=T<
(c) Eight\3r&
(d) Seven\HTd

(e) None of these\Z7H & &< Agl

Directions (15-17): Study the information carefully and answer the questions given below.

ST T eATAIE S eI hiTord 3T 1= (&0 T =T o 3L Ao

Seven persons of a family are living in a house. There are three generations and three married couples in
this family. Q is grandmother of T. S is the father-in-law of V. R has only two children. P is father of R, who
is a married woman. S is not the child of Q. U is the brother of T. There are four females in this family.

U ¥ H Teh TIET 6 HTd A1k 18 ¥ gl 36 Tare # 9 i3t e 19 fFarfza Se gl Q, T #r d=H=T 31 S,
V T ®TaZ-39-d1 gl R F Faer ot ag &1 P, R &7 fUaT €, ST Us fAarfga afgar 81°S, Q i #ara 7t 21 U, T &1 9Ts

g1 39 IRE § A1 Ao gl

Q15. Who among the following is sister-in-law of T?
oforfea & & 19 T 6T Ree-g=1-a1 82

(AR

(b) Q

(Vv

(d)S

(e) None of these\TAH H &S A6l

Q16. How is U related toP?

U, P & o TohT Hafaa g2

(a) Nephew\ﬁ"?—'{

(b) Niece\#TH

(c) Granddaughter\iEsiex

(d) Grandson\3EETex

(e) None of these\ZaH & #I< Aal

Q17.If L is husband of T, then how L is related to R?
i L, THRT I 8, a1 L, R & o wohre wafera 22

(a) Father \faaT

(b) Son-in-law\T-ZF-T1

(c) Son\q=

(d) Father-in-law\"wTgZ-29-1

(e) None of these\TaH & &I AG[
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Q18. How many such pairs of letters are there in the meaningful word ‘LEGENDARY’ each of which has as
many letters between them in the word as in the English alphabet (From both backward and forward)?

Ul er52 'LEGENDARY' & 31&131 o UH fohae Siis & S | T® & &1 3a &t &< g fora+ o6 RSt
FOTHTAT H (1= S ST T H) g 57

(a) Two \T=

(b) One\u=

(c) More than three\d ¥ rferF

(d) Three\&=

(e) None of these\Z7H & #TE AGI

Q19. Four of the following five are alike in a certain way and hence form a group. Which is the one that
does not belong to that group?

et o= § & =3 uF [AfSm Tl & 90 § T 9o UF 99 a97d 81 98 &I 97 g S 39 998 &
SEIREEEIEY

(a) RSW

(b) STX

(c) OPT

(d) FGK

(e) LMP

Directions (20-23): Study the information carefully and answer the questions given below.

STTHRTIT T EATATAH AT o ST A= &0 T T F 3L &l 1o1 |

There are six persons who belongs to six different places of India. Each of them have different brand of
bikes i.e. Hero, Suzuki,,Honda, Java, BMW.and KTM (but not necessary in the same order).

R has Java and he is from Manali. The one who has Suzuki is not from Jaipur and Leh. P is from Darjeeling.
The one who is from Agra has hero. T has KTM bike. The one who is from Leh, does not have KTM. U
doesn’t from Leh. P doesn’t have BMW and Suzuki. S is not from Leh and Dharamshala. Q is one of the
person.

g ATh A % Fg AAT-S(T TATAT F HATerd gl STH & T4 o T AAT-3AAT FTS- I, [T, gIeT, STaT,
JTTAES ST HETUH; il AT 5| (AT ATAIAF Al 1o 6T HF § 3)

R % ITH ST4T g ¥ ag FATeAT | g1 S8 918 gopeh! ¢ a8 ST 3% &g | A5l g1 P ST 8 gl a8 A6 S
AN | & S ITH g1 a2 gl T o ITH he[UH aTeF | ag 1<k Sl og & g, Ik I he[UH qgl gl Udg &
TE &1 P ¥ T FIUHEST A AR AT 31 S g S aere & Y &1 Q I FARRA § ¥ U 2

Q20. Who among the following is from Leh?
Feffea A a s ag ae?

(@)Q

(b) T

(U

(d)S

(e) None of these\Z7H & &I A5(
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Q21. Which of the following brand bike does U have?
U % ure fferferd & & i =t o &t 912 82

(a) BMW\Hesey

(b) Suzuki\ TSt

(c) Honda\gf=T

(d) KTM\FuH

(e) None of these\Z7H & #TE AG!

Q22. S belongs to which of the following place?

S freferferT & & e =T | Hated 82

(a) Cannot be determined \f&rTfa a&T FohaT ST FhaT
(b) Darjeeling\ &St T

(c) Agra\ 3T

(d) Jaipur\sr{x

(e) None of these\Z7H & FTE AT

Q23. Who among the following has Honda bike?
(@Uu

(b)S

(@Q

(d)P

(e) None of these\Z7H & #TE AT

Directions (24-27): In these-questions; relationships between elements is shown in the statements.
These statements are followed by two conclusions: Give answer-

fArforfea st o, FA=1 K acdl & i Hagi il qETIAT gl 57 FHAAT 6 o7& &l (7A6A (o2 T | AT <o

Q24. Statements: P<R<S<T>U
Conclusion:

I.LU<R

ILT>P

FIT:P<R<S<T>U
Ao

I.LU<R

ILT>P

(a) If only conclusion I follows.\ T Fael AR | T HLAT 2l

(b) If only conclusion II follows.\T= Faet At 11 I HTAT 2l

(c) If either conclusion I or conclusion II follows.\7& =T a7 e [ FT [ 11 AT FaT 5

(d) If neither conclusion I nor conclusion II follows. \T& 7 a7 At [ 3% 7 &T At 11 LT HLAT 2l
(e) If both conclusions I and II follow.\TT& [t I ¥ 11 11 THLIT h¥d £l
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Q25. Statements: T>U=>V=>2W,X<Y=W>7Z
Conclusion:

.LZ>U

ILW<T

FIT:T>U=2V=2W, X<Y=W>Z

Ao

I.Z>U

ILW<T

(a) If only conclusion I follows.\ 7% &<t AT [ FTETOT FLAT B

(b) If only conclusion II follows.\TT& Faer AT 11 LT FLAT &

(c) If either conclusion I or conclusion II follows.\Tf% IT a7 fAewd [ =T ATy 11 THTOT HLAT 2l

(d) If neither conclusion I nor conclusion II follows. \@IT% 7 T 7wt [ 3T 7 & Aot 11 ATHLOT HLAT 2l
(e) If both conclusions I and II follow.\Tf& feHT I &< 11 TAT ATHLT Fd 2|

Q26. Statements: K<L<M<N,M<O<P
Conclusion:

I.LP>K

ILN>O

FIT:K<L<M<N,M<O<P

Ao

I.P>K

ILN>O

(a) If only conclusion I follows.\ &% Faet AT | ST KLAT 2l

(b) If only conclusion II follows.\TT& st fAeHT 11 I K LT %’I

(c) If either conclusion T'or conclusion II follows\Zf& T 7 7T [ IT [Ty 1L SATHLT FaT 5

(d) If neither conclusion I nor conclusion II follows. \7& 7 TT [AT [ 37T 7 & fA 0 11 STH0T FLaT g
(e) If both conclusions T'and 11 follow.\ 7f& e 1 &2 11 <11 SHLIT FLd %I

Q27.Statements: B<A<(C A>D<E
Conclusion:

I.LB<E

I.C>E

FYT:B<A<CA>D<E

IGASAE

I.B<E

I.C>E

(a) If only conclusion I follows.\ T Fael AR | SITELIT FLAT |

(b) If only conclusion II follows.\TT& &<t T I1 AL FLAT 5

(c) If either conclusion I or conclusion II follows.\ @& =T a7 fAewt [ 77 et 11 WW%’I

(d) If neither conclusion I nor conclusion II follows. \ 7% 7 T AT [ 3 T &1 Ao 11 T H0T FLaT &
(e) If both conclusions I and II follow.\ T TR I 3T 11 FHT AT FXd B
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Directions (28-32): Study the information carefully and answer the questions given below.

ST T eATAIE S eI hiTord 3T F1= (<0 T T o 3L A Tord|

Eight delegates of the different countries attend meeting on two different dates 17t and 24t of the four
different months i.e. July, August, September and October of the same year.

Q attends meeting in September. Three persons attend meeting between Q and T. Equal number of
persons attend meeting after T and before R. More than one person attend meeting between R and S who
does not attend meeting on odd number date. One person attends meeting between P and W. Equal
number of persons attend meeting after V and before U who attends meeting on odd number date. P does
not attend meeting in the same month as Q.

fafsrr 2ot o e afaf e U g1 3w & AT AT-3T Jig- JoTs, eq, Haaw oY srreay &t aT STavr-are
ATt 17 3T 24 =7 9% | 907 oI 2|

Q Forda™ H 9o | 9T oraT 81 Q 3 T % &= i =71k HITeqT § AN oI 21 T % &7 3T R § qger M § 91+
HEAT H 2ATh AT od g1 R ST S 3 1= U & AT SATh HITT H AT o & ST [a0H7 F&AT #hl [ty 9% Hi{eT |
AT Al ofd g1 P 3T W i Uk =rich T & G1 oar 81V F 972 i U & 98 0T 96T § =7i<h HifeT |
AT oI & ST ooy &t areft fafer st #ifeT § amrerd €1 P, Q 9919 | § 95F | 9T A} ofdT g

Q28. Who among the following attends meeting on 17th October?
fRerferierd § & 19 17 TFga< 1 9% § T odl 87

(@R

(b) W

(9P

(dU

(e) None of these\Z7H & #TE AT

Q29. How many persons attend meeting between P and V?
P 3 V & W Tohae =1<h oo § AN o1d &7

(a) One\TH

(b) More than three\T1 ¥ 3Tfer®

(c) Two\&T

(d) Three\d&=

(e) None of these\ZaH & FIs H‘QPT

TEST SERIES

BILINGUAL
VIDEO SOLUTIONS

Q30. Which of the following statement is true about S?
S % Faed § [Meferied § 8§ i 97 F:39 97 572
(a) S attends meeting in September\S FErda¥ ¥ 9% § ART AT

gg_r% attends meeting immediate after S\U ,S & G I H AT I B P S‘ 2 0 2 2

(c) S attends meeting immediate after P\S,P & T aTE 9% | AN R R B PO

e PRELIMS + MAINS
(d) Two person attends meeting between S and Q\S 3% Q F &= ar

FT<h 5% § AT A &

(€) None of these\ it & F1% 7t 95+ Total Tests | eBooks
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Q31. Who among the following attend meeting just after R?
Rerferfard & & &I R 3 315 a1 HITeT | 9T odT 87

(@Qw

(b)U

(c) P

(dV

(e) None of these\Z7H & #TE AGI

Q32. Four of the following five are alike in a certain way so form a group, which of the following does not
belong to that group?

et o= § ¥ 9% us [faa als & 9099 8 2890 U 93 a9 &, feftfaa # 9 s sa aqg @
e Tt &7

(T

(b) S

(Q

(dVv

(e)P

Directions (33-37): In each of the questions below are given some statements followed by some
Conclusions. You have to take the given statements to be true even, if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

= faT 70 Ieish o1 § g A Sl 3T 918 T (oY QU 0 5| 9T {0 0 FAAT1 R T¢F GTEAT 8, T af
F HASTT 2T & T Tl i gf| TdT fHewet &r i $ie e a7 firfery o oo 1o fMreret & & &6 |7 Aoy

AT &9 F 7T T2A1 1 T2aTg (U 9T (30 0 ot 7 Qe ©9 & STTHLT FHdT gl

Q33. Statements:

Only a few Rain are Water
All Water are Winter

No Water is Cold
Conclusion:

I: Some Winter are not Cold
II: Some Rain are not Cold

ERDH

A Feg I AL 8

et arex fdex g

1S AT Ao T 2

Ao

II: TS A Fiee Tgl &

(a) If only conclusion I follows.\ T Fael AR | ST HIAT 2l

(b) If only conclusion II follows.\TT& &<t T 11 ST FAT 5

(c) If either conclusion I or I follows.\&f =T AT ARt 1 AT 11 THIIT HTAT 2l
(d) If neither conclusion I nor II follows.\FT% 7 AT fAeRT | 3 T &1 11 AL FLaT 5
(e) If both conclusions I and II follow.\TT& [t I ¥ 11 11 THLIT h¥d El
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Q34. Statements:

Only a few Purple is White

No Purple is Yellow

Only a few Yellow are Black

Conclusion:

I:All White can never be Yellow

II: Some Black is Purple.

EEH

el e T SETEE &

TS T4 AAT ol §

A TG AAT 5AF &

Ao

1T sgree w9t AT 9ET BT TR

II: % &1 79 &

(a) If only conclusion I follows.\f% &<t AT [ ATELOT F2AT 2|

(b) If only conclusion II follows.\TT& Faer AT 11 SLHLT FLAT &

(c) If either conclusion I or II follows.\T & IT AT AR [ AT 11 SITHT FHAT 2|
(d) If neither conclusion I nor II follows.\ &< 7 T fe= [ 3T 7 ¥ 11 STILIT RIAT 2l
(e) If both conclusions I and II follow.\ @& e [ i< 11 =11 STHLIT R d %‘I

Q35. Statements:

All Rabbit are Horse.

All Horse are Dog.

Only a few Horse are Bird

Conclusions:

I. Some Bird being Dog is a possibility

II. No Rabbit is Bird

EL L

Tt e a8

qeTgE ST g

FATFEEE AT ©

Ao

L. T 9% % ST I &l G9TEaAT &

ILFEEeasagie

(a) If only conclusion I follows.\ T Fael AR | SITELIT HLAT |

(b) If only conclusion II follows.\TT& &<t T I1 AL FLAT 5

(c) If either conclusion I or II follows.\ T AT qT R 1 AT I FTHLT FAT 2
(d) If neither conclusion I nor II follows.\{% 7 AT ARt | 3 T &1 11 AL FLaT 5
(e) If both conclusions I and II follow.\ T TR [ 3T 11 FHT AT FXd B
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Q36. Statements:

Only a few Date is Year.

No Year is a Month.

All Month are Leap

Conclusions:

I. Some Leap are definitely not Year
II. Some Month are Date

EEH

FAT Fg STTATE

FIE AT HT AL &

aft g v g

e

I %9 o fAfem sr & Sae adi 8

ILTE AT

(a) If only conclusion I follows.\f% &<t AT [ ATELOT F2AT 2|

(b) If only conclusion II follows.\TT& Faer AT 11 SLHLT FLAT &

(c) If either conclusion I or II follows.\T & IT AT AR [ AT 11 SITHT FHAT 2|
(d) If neither conclusion I nor II follows.\ T 7 AT fe= [ 3T 7 ¥ 11 STILIT RIAT 2l
(e) If both conclusions I and II follow.\ @& e [ i< 11 =11 STHLIT R d %‘I

Q37. Statements:

Only a few Family are Mother

Only a few Mother are Fathers

Only Fathers are Sister

Conclusions:

I: All Mother being Father is a possibility
II: Some Fathers are not Mother

EL L

A g TATT ATAT &

A T AT AT 8

S T e 8

Ao

I: 7r<ft 77T o TOaT g st S9maAT g

II: T MaT AT 951 &

(a) If only conclusion I follows.\ T Fael AR | SITELIT HLAT |

(b) If only conclusion II follows.\TT& &<t T I1 AL FLAT 5

(c) If either conclusion I or II follows.\ T AT qT R 1 AT I FTHLT FAT 2
(d) If neither conclusion I nor II follows.\{% 7 AT ARt | 3 T &1 11 AL FLaT 5
(e) If both conclusions I and II follow.\ T TR [ 3T 11 FHT AT FXd B
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Directions (38-40): Study the following information carefully and answer the questions given below.

Ao STTaaRTT T &A@ STe e shitoral 3T = T 70 et o 3 & for |

There are eight persons M, N, O, P, Q, R, S, and T sitting around a circular table facing towards the center
of table. T sits immediate left of the one who sits second to the right of M. S is immediate neighbour of N
who is not an immediate neighbor of O. Only one person sits between M and O. Three persons sit between
Q and N. Only two people sit between Q and P. R is not an immediate neighbour of P.

A AR M, N, 0, P, Q, R, S, 3% T U FTTHIT ST o AT AT ST o ohx =l AL G H%h 95 gl T IH AT<h o 31
T FBT 8 ST M & T3 | AL T T AT 81 S, N FT Hefhecanw T=rft 8 ST 0 T Mdedq = A8l gl M3 0+
= AT Teh 2AT<h 927 g1 Q 3T N & &= d1+ ok 96 gl Q 37T P & &1 *haet < =AT<h 954 gl R, P &1 Mefeaw
TETE A5l Bl

Q38. Who among the following sits second to the right of S?
Rt & & 19 S o a0d & THY #0199 937 62

(@) P

(b)R

(0

(AN

(e) None of these\Z7H & #TE AGI

Q39. How many persons sit between T and R?

T 3 R % #ex fohas 1<k o8 872
(a) One\TH

(b) Two\&T

(c) More than three\d19 & ferF
(d) Three\Td=

(e) None of these\ZaH & FIs 'TQPT

Q40. Who among the following sits immediate left of N?
e Terra ® & & N & 31 913 927 872

(@0

(b) P

@Q

(dR

(e) None of these\Z7H & &I A5(
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Directions (41-45): Read the following data carefully and answer the following question.

Freferfea 3o &t ea= T v o fReferfea v w1597 9

There are 210 students in a class, and all of them like different players. 40 students like only Dhoni, 30
studets like all three players ,there are total 130 students who like Dhoni and 100 students who like
Rohit. 40 students like Dhoni and Rohit only,, 10 students like Virat and Rohit only.

U AT § 210 BT &, AT 3T THT Tl STT-37RT {HATST T6HT g1 40 BT Fao AT H THE Fd &, 30 T
et faenfZ= &1 udw F3d €, T 130 BT T F 996 Fd g A 100 A AT T 086 Fd &1 40 T
FAA &I ST UTed HI THE Fd 8, 10 T Fae &6re ofiT AR F1 768 Fd 2

Q41. What is number of students who like Virat only?
Fae TA¥Te T 6T FLA ATl GIAT 0l GE&AT ohal 82
(a) 50

(b) 40

()30

(d) 60

(e) 70

Q42. Students like Virat and Dhoni only are what percent of students like Dhoni only?

Fad TATTe 3T T ol T FT ATl I haol &TT T THE FLed aTel GIA1 HT ha AT TTT9rd 872
(a) 50%
(b) 60%
() 25%
(d) 30%
(e) 40%

Q43.Number of students like Rohit only is how much less than the students like all three players?
e TR T T F AT T A A TR i e F AT w9 37

(a) 15

(b) 20

(c) 30

(d)10

(e) 25

Q44. Students like Virat are what percent of students like Rohit?

TaTe i THE e el G, e d I THE FlAd qTl STAT DT ha =T T 872
(a) 100%

(b) 130%

(c) 110%

(d) 120%

(€) 90%
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Q45.What is the ratio of students like only Virat and only Dhoni together to the students like only Rohit?
Fae faTe oY Fae gt i AT 78971 FIT a1 ST FT 6 Ulad Bl TEE HIT a1 ST F AT
oraeT 22

(a) 2:9

(b) 9:2

(c) 3:7

(d) 7:3

(e) 5:3

Directions (46-50): What approximate value should come in the place of (?) question mark in following
questions.

frferfera ot ® (2) wrf=eg % T 9% RIRT AT /I AT AT 0?

;-'151'9'9
Q46. 50.03 % of 127.97 + -~

(a) 64
(b) 62
(c) 60
(d) 56
(e) 82

% 3.99 =7+10.05

133108
Q47. 1099
(a) 11
(b) 14
(c)17
(d) 22
(e)8

+ +80.9447 = 26.98

Q48. (2.99)% x (3.03)® x (8.99)% = (27.02)* = (2.99)
(a) 4

(b) 6 TEST SERIES

(c) 10 BILINGUAL

(d) 2 VIDEO SOLUTIONS

(e)8

Q49.122.99 + 447.02 - 169.99 + 499.95 =7 - 199.99 IB PS PO 2022

(a) 1300 PRELIMS + MAINS
(b) 1100

() 1000

(d) 1030 90+ Total Tests | eBooks
(e) 1173
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Q50. (14.03)% + 179.03+ (4.99)* = (?)°

(a) 10
(b) 20
()30
(d) 40
(e) 22

Directions (51-55): Each of the following questions is provided with 2 statements i.e. Statement [ &
Statement II. You have to study them and find which statement (s) is/are necessary to answer the
question as per the instruction set given below.

Moo § & Tos T § 2 F99 QU M0 g A7q AT 1 30T FAF 11 STHT ITRT TeIAT FIAT ¢ AT qaT
AT & o = {30 T [Maer 92 & SIaTT W7 F7 3L & & (70 i 97 A ATG9TF g

Q51. What is speed of car?

T T I 4T 872

Statement I: The car can cover a certain distance in 4 hours.

FIAT |: FX 4 5 § TF [T T a7 FT Tl 1 8

Statement II: The car can cover same distance in 3 hour if speed increases by 5 kmph.
FU I1: FTT 3 9 § q0F T TT F Tt g Ife i 5 Bt afa = gz 9t )
(a) Either Statement I or Statement Il is sufficient to answer

IT 1 FI [ 3T FI9 [ 3T 37 5 o0 =g g

(b) Only Statement I is necessary

FIA FAT | AT 5

(c) Both Statement I & Statement Il are necessary to answer

FAT | 3T FAT [ A1 3L a7 o forT mea97e @

(d) Neither Statement I nor Statement Il is sufficient to answer

ST & o TolT 7 a7 F:99 [ 3 T &1 %2 [ 9719 &

(e) Only Statement II is necessary

FAA FHAT 1] AT 5

Q52. What is the cost price of mobile?

HIETSA ®T 77 goF FT 872

Statement I: the mobile is sold at a profit of 20%.

FIT I: AT 20%  ATH T AT ST &

Statement II: the product is marked up at Rs 5000.

FI II: 3TITE 9¢ 5000 =7 3ha g

(a) Either Statement I or Statement II is sufficient to answer
T T FAF [ T F99 11 I o F forw g7aig 8

(b) Only Statement I is necessary

FAA FIT | ATTAF &

(c) Both Statement I & Statement Il are necessary to answer
FAT | 31T FAT [ IAT I & o o0 SMF9AF ¢

(d) Neither Statement I nor Statement II is sufficient to answer
AL 3 o 7 97 99 [ 377 7 8 9 [1 9979 g

(e) Only Statement II is necessary

FAA FHIT [ AT &
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Q53. At what time the train reach station B?

2 g THT T29| B 9 TgAdl 27

Statement I: The train left station A at 8:00 AM and distance between A and B is 400 kms.

FIT I: 27 T A § gag 8:00 a7 fHahercll g 3T A 3T B % a1= f g2t 400 FhHT 1
Statement II: the train can cover a distance of 100 kms in 75 minutes.
FI 1I: o7 75 e § 100 T &t T 37 F7 Tl 2|

(a) Either Statement I or Statement Il is sufficient to answer

T AT HAT 1 AT FI [ 3L a9 & 1w ag7q 8

(b) Only Statement I is necessary

FIA FIT | ATTAF &

(c) Both Statement I & Statement Il are necessary to answer

FAT [ 3T FAF [ AT 3T & F [oIT g7 &

(d) Neither Statement [ nor Statement II is sufficient to answer

ST & U T a7 FA7 13 T 3 F2 T 1 T ©

(e) Only Statement II is necessary

FA FAT [ AMT9TF 3

Q54. What is time taken by boat to cover 40 km downstream?
T T 1T 6 e 40 TRt 7 T a7 e § T 997 9ra1 &2

Statement I: the speed of boat in still water and speed of stream is in ratio 5 : 1. It can cover a distance of

20 km upstream in 2.5 hour.

FAF I: 9T STeT | A7 60 0 S G =67 Tq H0 AG9TT 5:1 21 T2 G177 % Afawey 20 Fft 1 v 2.5 59 |

TT T ThaT g

Statement II: the boat takes 4 hour to cover a certain distance in downstream and 6 hours to return.

FAT 11: 979 T 13T & ATHA U T T T F2 | 4 5 2 a9 o+ | 6 e ad &
(a) Either Statement I or Statement Il is sufficient to answer
IT AT HAT [ AT FI [ ITL I % o qaig g

(b) Only Statement I is necessary

EEEEREIE CERE

(c) Both Statement I & Statement Il are necessary to answer
FAT | T F9 [ TAT 3L & o o7 ATT9TF ¢

(d) Neither Statement [ nor Statement II is sufficient to answer
ST 3 o o0 7 a7 H:99 [ T T &1 F99 [ 719 &

(e) Only Statement II is necessary

FAA FHIT [ AT &
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Q55. How many bags are there in the box?

a3 e 32

Statement I: there are 10 pink bags in the box.

FIT I T | 10 T[ATT 5T &

Statement II: The probability of drawing 2 red bags from 5 red bags is 2/9.
FIT 1: 5 ATA ST | & 2 FATA ST [HewTeAe sl Iashar 2/9 gl

(a) Either Statement I or Statement Il is sufficient to answer
T AT HAT 1 AT FI [ 3T a9 & 01w agi| 8

(b) Only Statement I is necessary

FAA HAT | AT ©

(c) Both Statement I & Statement Il are necessary to answer
FAT [ 31T FAF [ AT I o o o7 AaT9TF &

(d) Neither Statement I nor Statement Il is sufficient to answer
ST & & fU T a7 FA7 13 T 3 Fo T 1T 5

(e) Only Statement II is necessary

FIA FAT 1] AT 5

Directions (56-60): What will come in place of question mark (?) in the following series questions?

fRrerferferd saem & vt # weaf=eg (2) % #4092 F4T Ao

Q56. 1 2 6 15 ?
(a) 31
(b) 30
(c) 25
(d) 40
(e) 28

Q57. 12 14 17 22 29 7
(a) 41
(b) 40 BILINGUAL

(c) 38

(d) 45

s BANK
Q58. 1 2 10 37 101 7 PRIME

(a) 225

) 227 TEST PACK
(c) 226 1BPS RRB, SBI, IBPS PO | Clerk & Others
Ed)) ;;;’ 1200+ TOTAL TESTS

e
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Q59. 101 123 147 173 7
(a) 200
(b) 201
(c) 202
(d) 203
(e) 204

?
Q60. 24 30 23 31 22 ?

(a) 32
(b) 33
(c)31
(d) 34
(e) 35

Q61. If speed of B is 20% more than that of A, then what will be the time taken by A to cover the same
distance which is covered by B in five hours?

T3 B & It A it T & 209% Tfere 8, a7 A ZTT A+l af &l aF Fed H FohadT §H7F TREIT ST B g7 979 "
o 7 i SATAT 27
(a) 4 hrs\ 4 5
(b) 5 hrs \ 55
(c) 6 hrs\ 6 =<
(d) 7 hrs\ 7 =<
(e) 3 hrs\ 3¢

Q62. What is the interest earned by a leader on Rs.20000 for the period of two years at the rate of 12.5%
on simple interest?

T AT GTET ATLTI0 4T 9% 12.5% =T &< § &7 @l sTarel & (<70 20000 %, 9L S0 s37o7 fohaer g7
(a) 2500 Rs. \ 2500 %.
(b) 5000 Rs. \ 5000 %.
(c) 7500 Rs. \ 7500 .
(d) 7000 Rs. \ 7000 %.
(e) 6000 Rs. \ 6000 .

Q63. If P & Q together can complete a work in five days and Q alone can complete the same work in 10
days, then in how many days P alone can complete the same work?

T2 P &lT Q U AT Uk HTd ol 97 [aAT H T FT Thdl g AT Q eheAT IHT &1 &l 10 AT H TXT T Tl &,
qT P SToheT SHT 13 [ fohae foAT & T T Thal 872

(a) 7 days \ 7 fa=r

(b) 8 days \ 8 fa=

(c) 10 days \ 10 fa=

(d) 15 days \ 15 fa=

(e) 9 days\ 9 fast
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Q64. In a mixture of milk and water, 25 liters of water is added due to which the ratio of milk and water
becomes from 4:5 to 2:5. Find the initial quantity of mixture?

T ST AT o [rsqor § 25 e aret e sar g S 3o ofiT ait #7 ST qoTa 4:5 7 2:5 g7 Srar . e
Y I ATAT ST o

(a) 40

(b) 45

(c) 50

(d) 55

(e) 35

Q65. There are 20 students in a class and the average age of class is 25 years. If average age of first 18
students is 24 years, then what will be the average age of last two students?

e FAT H 20 fo=meff € of wear &t ofr|a omg 25 99 ) If< T2 18 FrAT ol oieq g 24 a9 g, ar sifta#" ar
AT AT SfET A AT R

(a) 32

(b) 36

(c) 38

(d) 34

(e) 30

Q66. A invested 25000 and B invested 75000 in a business and Ratio of time in which they invest is 7: 4.
If the difference between their profit is 500 Rs, then what is the total profit (in Rs.)?

A S UF FEET | 25000 FT fHerer #FAT &g B« 75000 T Faer B siv 39 g e fre o awe
AUTT 7:4 8| TTE 36 ATH & A4 AT iq¥ 500 TTF g, q7 e AT (¥ H) FT 82

(a) 1800

(b) 2000

(c) 1900

(d) 1700

(e) 2100

Q67. If the circumference of circle is 88 cm and ratio of radius of circle to side of square is 1 : 2 then what
will be the ratio of area of circle to area of square.

TfT g7 it affer 88 |HT § i< T ol ST T aFT il T & AqATT 1:2 & AT I o6 &AHA T a3 o AR &
FTITT AT ZIT?

(a) 14:11

(b)11:14

(c)13:14

(d)11:16

(e)16:13
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Q68. A bag contains 3 red, 4 blue and 3 green balls. If 2 balls are drawn at random then what is the
probability that none is green.

TS 9T H 3 AT, 4 e 3T 3 T 3= | AfS Agh=aF 9 7 2 342 [Hepreft Jrdt g, ar et ft iz F g agt g
&1 IRt T 872

(a)6/11

(b) 8/15

(c)11/15

(d) 7/15

(e)9/11

Q69. Pipe P and Q together can fill a tank 24 hours. If efficiencies of pipe P to Q is in the ratio of 3:2, then
in how many hours pipe Q can fill the same tank alone?

ITET P 3T Q e UF & & 24 €< 9T T g1 T 92T Pt Q & &19aT 3:2 F 9T § ¢, a7 929 Q 3Tohed
ST & T Fohaer =5 § 9 Fehar 872

(a) 60

(b) 45

(c) 30

(d) 72

(e) 54

Q70.When an article was sold at 60% of its marked price, the loss percentage was 10%. The article
should be sold at what fraction of marked price to earn 10% profit?

ST U T il 39 HTehd oA & 60% TT =T AT, qT B TTaerd 10% =Tl 10% ATH AT e o oI aeq
T sifehd qod o Toha IT_9T I=1 ST A80?

(@) 3/7

(b) 11/15

(©) 7/9

(d) 13/19

(e) 4/5

Directions (71-75): What will come in the place of question (?) Bilingual

©

Special Offer

mark in following questions.

eferfed vt § waf=ee (?) % T 9% F47 0|

071 42 x%+zu%nf53{}—26=? IBPS 2022
(a)2;L4 RRB CLERK
(b) 198 PRELIMS

(c) 236 with Video Solutlons

(d) 212

() 252 55+ TOTAL TESTS
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Q72 (23x 23) + 21x 7=7"7

(a)8

(b) 38
(c) 26
(d)12
(e) 44

Q73. V1444 + 19+ 3.5 X Vie = (?)
(a) 16

(b) 30

(c)8

(d) 26

(e) 10

Q74.780+ 48 x 16 =7
(a) 280
(b) 248
(c) 275
(d) 242
(e) 260

_ — 7 _ 2
Q75. 1486 + 212 — 1704 =7 —(11)

(a) 95
(b) 115
(c) 130
(d) 102
(e) 135

Directions (76-80): Line graph given below:shows the total people (males + females) registered for
covid vaccine in five different centers. Study the data carefully and answer questions.

== 33T 7 AT UTE AT AIT-SAAT FG [ H FITAS TN o (o0 TSt Tl AN (T2 + Figar) T 9rrar
S| ST HT LATHIES LTI A ST T o I &

90

B0

70

60

30

40

30

20

10

0
A B C D E

e Pfales === Females
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Q76. Males registered in A & C together are what percent more or less than females registered in B & D
together?

A ST C H AT 9Siisha T2, B 3 D § et astiga Atgarat & fohaw sfaerd stferss a7 w7 82

(a) 4%

(b) 5%

(c) 0%

(d) 7%

(e) 9%

Q77. What is average number of male users registered in all the centers?
Tt T § OSiiehd & STANTHAT i SEd HEIT Fha«T 8?

(a) 60

(b) 65

(c) 55

(d)70

(e) 75

Q78. In which center, does the maximum number of users registered?
AT STTRTHAT [ g H IS 1Hd 57

(a) A

(b)C

()b

(d)B

(e)E

Q79. What is average number of people registered in all the centers?
asft FET § ISiiehd AT ot SAETd ST haeit g7

(a) 106

(b) 110

(c) 120

(d) 114

(e) 124

Q80. In how many centers, does the percentage of registered females [
is more that 50% with respect of total registered people from that FH=i{Ei [clifTE
center? VIDEO SOLUTIONS
fohae &l ®, Isiiha Afgdrall HT ITaed Sq g & Fo Isiihd AN &
G H 50% H SATe 7 IBPS 2022

02 RRB PO

(c) 4 PRELIMS + MAINS
(d) 3

(e)1

95+ Total Tests | eBooks
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